[E. Shkid iRy B AR (1R

m 5pEE Outline Drawing

3¢ =\

Snubber capacitor for high voltage, high current pulses (Radial type)

)

; v $85hFAluminum case
Inflaming plastic case

£55h FAluminum case

wp _L\-ll—p? " Type2 Type3 Type4 Type5 Type6
Bﬂk;ﬁaﬂ;ﬁ)e 242 R Bolt type 242 R Bolt type 27 R Thread hole type 21 R Bolt type 12 X Bolt type
N 1 v

85 FAluminum case 85 FAluminum case $85hFAluminum case

P+1.0

10

©

!9"

. 2D

I'i-

ve/mi2

| |

raln
LA

. ﬁlﬁ

o RFEN, EBRTH

o XN EREREE/N, ARV,
° F AT

o WigiE, A=

m ;7

E8 G A= by ASAE
BERCH, BN A

BEARZBARSUK R

m Z&i\iE Safety Approvals

m Features

® Low loss and small inherent temperature rise

® Low ESR,Low ESL,can withstanding high r.m.s current
® Self-healing property

® Filled with resin or oil

m Applications
® High ripple current D.C. filtering
® For high pulse and high frequency application

b\

UL(XE)

UL 810(constrution only),
JEH S (File No.):

max 1400Vdc, 90°C ( Type1)
E256238, CCN. CZDS2

m HAREXK Specifications

5| F#5/#& Reference Standard

GB/T 17702, IEC 61071

11@3’2%'] CIimatic Category 40/85/56

Operatlng temperature range ( case )

A E{RZ Capacitance Tolerance J(£5%), K(£10%)

it B FE ( PBARIE] ) 1.5Un (10s)  Un=DC

Test voltage between terminals(Ut-7) 1.25Un (10s)  Un=AC

it B8 E (AR 5= 18] ) Un < 1500Vdc, 3000Vac(10s, 50Hz, 20C +5T)

Test voltage between case and terminal (Ur—c)

Un = 1500Vdc, \/7UN+1000)VaC(1OS 50Hz, 20C +5C)

#7#E f5 IE Y] Dissipation Factor

< 0.0005 (1kHz, 20C)

42 BR Insulation Resistance ( IR x Cn)

= 10 000s(20°C , 100Vdc,1min)

= AR Max. Torque of terminals M6: 5Nm M8: 6Nm [ M12: 8Nm
RAREHE #HHE R Tabs type M8: 3Nm
Max. Torque of Installation 1243 Bolt type M8: 5Nm [ M10: 7Nm [ M12: 10Nm

T {EZF4r Operation life time

= 100 000 hours at Un, ©ns=70C

2016

97



98

<[> 3¢

7= 4R A5 15 BA

m 18R NT:

The 18 digits part number is formed as follow:

Part number system

1 2 83 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18
C(3]|G
B3 EIERD Digit 1 to 3 Series code
C3G C3G
BABN  ERFEBE/ZRIE BE Digit4to 5 D.C. rated voltage/ A.C. rated voltage
3M=1 400V 3D=2 000V 1N=2 400V 3M=1 400V 3D=2 000V 1N=2 400V
3E=2 500V M3=1 400Vac D3=2 000Vac 3E=2 500V M3=1 400Vac D3=2 000Vac
E3=2 500Vac Q6=3 200Vac R5=3 500Vac E3=2 500Vac Q6=3 200Vac R5=3 500Vac
G3=4 000Vac G3=4 000Vac
¥6~80L IRRAEE Digit 6to 8 Rated capcitance value
2. 105=10x 10°pF=1.0uF For example: 105=10 x 10°pF=1.0uF
E9fL TEER Digit 9 Capacitance tolerance
J=+5%,K=+10%, M=+20% J=+5%,K=+10%, M=+20%
#1010z SN R TR 5D Digit 10 Dimension code
Code| D | H Sﬁgpfﬁﬁ o|Code| D | H Sﬁgﬁéﬁﬁ o|Code| D | H Sﬁgﬁ?ﬁfj .
1 30 63 Typel 6 50 135 Type2 B 86 170 Typeb
2 40 63 Type1 7 60 175 Typeb 86 280 Typeb
8 50 63 Typel 8 60 130 Type6 D 116 | 248 Typeb
4 40 95 Type1 9 60 145 Type6
5 | 50 | 100 | Type2 A | 116 | 70 Type3
£11141 A ERFFAERY Digit 11 Internal use

#12~1500 uhFRED

Digit 12 to 15 Terminals code

Type 1
# 12 {& Digit 12 # 13 {& Digit 13 % 14 {& Digit 14 % 15 {i Digit 15
mFRER REFN il i F A
Code Terminal form Code Fixed style Code Pitch Code Specifications of terminal
250 f@ A, Bih—R R M8 1242
7 One AMP250# per side 5 Bottom-bolt M8 0 10 0 AMP plugs 6.3 0.8
Type 2 and type 3
% 12 {& Digit 12 % 13 {& Digit 13 % 14 i Digit 14 % 15 {i Digit 15
mF R ZEHR Sl K E 5| H i AR A&
Cogs Terminal form (0 Fixed style (0 Length of terminals Coge Specifications of terminal
5 JEEE M8 1242 0 20 0 M8(P=32)
Bottom—-bolt M8
}f ome 2 16 2 M8(P=45)
EE M10 #2482
et 6 Bottom-bolt M10 4 15 5 M8(P=50)
RIET N
2 Bolt type : B M12 184 5 13 6 M6(P=22.3)
Bottom—bolt M12 6 25 7 M8(P=35)
IR E -
- Ring—clip in the 7 29.5 8 M8(Single)
middle of case 8 37 9 M12(P=50)
2016




3¢ =\

Type 4
% 12 {i Digit 12 % 13 {& Digit 13 % 14 & Digit 14 % 15 {i Digit 15
i F R ZEHR 5| H i R 5| Hi i AR A%
Code Terminal form Code Fixed style Code Depth of terminals Code Specifications of terminal
R M8 14
> Bottom—bolt M8 Meé(P=32)
6 JRES M10 #4%
T Bottom-bolt M10 3 M6(P=45)
R X N
H | Thread hole type | 7 JEEE M12 8242 3 9.5
Bottom—bolt M12
K E 4 M6(P=50)
8 Ring—clip in the
middle of case
$16~18L  MERLFAERD Digit 16 to 18 Internal use
m I ARZ% Technical data (mm ) ( Dry-Type)
A A Imax ESR
Cy Uy | Ups |dvidt | | I8 L SMERER
(uF) | (vdo) | (vao) | (Vius) | (A ) 100kHz@70C| @100kHz (nH) D H Part number S S
(A) (mQ)
0.1 1400|1000 | 900 90 270 10 12.0 63 30 63 C3G3M104+107500*** Typet
0.22 | 1400|1000 | 900 198 594 13 10.0 80 40 63 C3G3M224+207500*** Typet
0.33 | 1400|1000 | 900 297 891 13 10.0 80 40 63 C3G3M334+207500*** Typet
0.47 | 1400 | 1000 | 900 423 | 1269 13 10.0 80 50 63 C3G3M474+307500** Typet
0.68 | 1400|1000 | 900 612 | 1836 18 8.0 80 50 63 C3G3M684+307500*** Typet
1.0 | 1400|1000 | 900 900 | 2700 18 8.0 80 50 63 C3G3M105+307500** Typet
0.47 | 2500 | 1485|1200 | 564 | 1692 13 15.0 150 40 95 C3G3E474+407500*** Typet
1.0 | 2400|1000 | 750 750 | 2250 15 7.5 70 50 100 | C3G1N105+502556*** Type2
1.5 | 2400|1000 | 500 750 | 2250 18 10 90 50 135 | C3G1N155+602556*** Type2
5.6 | 2000 | 700 500 |2800 | 8400 120" 0.8* 30 116 70 C3G3D565+A02779*** Type3
m i RKZS% Technical data (mm ) ( Oil-Type)
a ~ |max RS
Cy | Uy | Uy | Urg | dvidt | 1 Is Ls SRR
(uF) | (vac) | (vao) | (vao) | (vius)| (a) | (a) 100kHz@70C | @100kHz (nH) D | H Part number e il
(A) (mQ)
4.7 1400 | 1800|3400 | 100 | 470 |1200 60 9.3 150 | 60 | 175 | C3GM3475+702707*** Type5
1.0 [ 2000 | 2600 |4 800 | 100 100 | 300 10 10 200 | 60 | 145 | C3GD3105+902768*** Type6
4.0 | 2500 |3200|5000 | 150 | 600 |1800 40 5 200 | 86 | 280 | C3GE3405+C02707*** Type5
2.0 | 3200|4300 [5500 | 1400 |2 800 |7 000 32 10 200 | 86 | 170 | C3GQ6205+B02767*** Type5
0.68 | 3500 | 4 300 |5800 | 2800|1900 |4 800 18 11 250 | 60 | 130 | C3GR5684+802768*** Type6
45 [ 4000 |5300|7000 | 720 |3240|8 100 30 10.5 180 | 116 | 248 | C3GG3455+D02789*** Type5
3. 1. “+" KRBT ERE, “+" =capacitance tolerance code M= +20%, K=+ 10%, J=+5%.

9. txaxr

3. “|max

«
Imax

4. “ESR" .

RIRAEDRAERD,
Wit . REEET70C, ME100kHz, ShFEEEIX
" at100kHz @amb 7OC ©case=85C.

A HTUE,

W xxn

“ESR”

= Internal use.

“ L

are typical values.

T8 CT HHME,

5. Hitw&E, R#?ﬁl AP ERBE, Other values and dimensions is available on request.

6. #:©amb =40°C, Imax =1 2OA(UW=UN),

Rs =0.8 mQ

2016

99




 
 
    
   HistoryItem_V1
   Splitter
        
     列：： 2
     行： 1
     重叠： 0.000000 points
     重叠到出血： 无
     仅将横向页分页： 无
      

        
     2
     1
     0
     0
     0.0000
     558
     212
     qi3alphabase[QI 3.0/QHI 3.0 alpha]
     1
            
                
         AllDoc
              

       CurrentAVDoc
          

      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0
     Quite Imposing Plus 3
     1
      

   1
  

    
   HistoryItem_V1
   Shuffle
        
     组大小： 96
     排序类型： 正常, 或全部范围
     规则： 1 2 3 
      

        
     96
     1
     1
     1 2 3 
     747
     288
     2
     2
    
            
       CurrentAVDoc
          

     Normal
      

        
     QITE_QuiteImposingPlus3
     Quite Imposing Plus 3.0c
     Quite Imposing Plus 3
     1
      

   1
  

 HistoryList_V1
 qi2base





